

A CONNECTION BETWEEN A CLASS OF ITERATIVE RECURRENCE RELATIONS AND SOME WORD SEQUENCES

B. Zay (Eger, Hungary)

To the memory of Imre Környei

To the memory of Béla Kovács

Abstract. Let $k \geq 2$ fixed integer and define a sequence G_k by $G_k(0) = 0$ and $G_k(n) = n - G_k(G_k(\dots(G_k(n-1))\dots))$, $n \geq 1$ with k iterations of G_k on the right-hand side. In this paper we show connections between properties of this sequence and generalized Zeckendorf representation of natural integers.

Let $k \geq 2$ be integer. Define the sequences $G_k(n)$ by $G_k(0) = 0$ and

$$(1) \quad G_k(n) = n - G_k(G_k(\dots(G_k(n-1))\dots)), \quad n \geq 1,$$

with k iterations of G_k on the right-hand side. This class of iterative recurrence relations was investigated by various authors, see for instance in [1], [7], [8] and [9].

In particular, it was independently shown in [2] and [3] that $G_2(n)$ can be given explicitly as

$$(2) \quad G_2(n) = [(n+1)\alpha]$$

where α is the unique positive root of the equation $x^2 + x - 1 = 0$, i.e. $\alpha = (\sqrt{5} - 1)/2$ and $[x]$ denotes the greatest integer less than or equal to x .

Research (partially) supported by Hungarian National Foundation for Scientific Research, grant No. T020295 and 29330.

D. S. Meek and G. H. J. Van Rees [9] gave a solution of (1) in terms of generalized Fibonacci base representations of n . For a fixed integer $k \geq 2$ they defined the sequence $F_1^{(k)}, F_2^{(k)}, \dots$ by

$$(3) \quad F_n^{(k)} = n \quad \text{for } n = 1, 2, \dots, k$$

and

$$(4) \quad F_n^{(k)} = F_{n-1}^{(k)} + F_{n-k}^{(k)} \quad \text{for } n \geq k + 1.$$

This sequence can be used to represent uniquely any positive integer n as follows.

Find the largest $F_{j_1}^{(k)}$ that is less than or equal to n . Then find the largest $F_{j_2}^{(k)}$ less than or equal to $n - F_{j_1}^{(k)}$, and continue this way.

So n can be written as

$$(5) \quad n = \sum_{i=1}^{j_t} a_i F_i^{(k)}$$

or shorter

$$(6) \quad n = a_{j_t} a_{j_t-1} \dots a_2 a_1,$$

where $a_{j_1} = a_{j_2} = \dots = a_{j_t} = 1$ and the other a_i 's equal zeros. We shall call $n = a_{j_t} \dots a_1$ the Zeckendorf representation of n in a "generalized Fibonacci base". It is clear from this definition that

$$(7) \quad j_{i+1} - j_i \geq k \quad \text{for all } 1 \leq i < i + 1 \leq t,$$

i.e. in (6) between two "1"s are at least $k - 1$ "0"s. The "truncation" T_k of a representation is defined in [9] as follows. Let n be represented as in (5) (or (6)).

Then

$$(8) \quad T_k(n) = \sum_{i=2}^{j_t} a_i F_{i-1}^{(k)} = a_{j_t-1} a_{j_t-2} \dots a_2.$$

D.S. Meek and G.H.J. Van Rees [9] proved the following result:

$$(9) \quad G_k(n) = T_k(n - 1) + 1$$

for $n \geq 1$, where $T_k(0) = 0$.

Define $D_k(n)$ by

$$(10) \quad D_k(n) = G_k(n + 1) - G_k(n), \quad n = 0, 1, \dots$$

From (9) we see, that we can write

$$(11) \quad D_k(n) = T_k(n) - T_k(n - 1), \quad n = 1, 2, \dots$$

It is easy to prove [see 10] that $D_k(n) = 0$ or 1 for any non-negative integer n and $k \geq 2$.

Let $D^{(k)}$ denote the infinite string

$$(12) \quad D^{(k)} = D_k(0)D_k(1)\dots,$$

whose $n - 1$ -th element is $D_k(n)$. Using the digits “0” and “1” we can form words even word sequences by “juxtaposing digits”.

Let $C^{(0)}$ be an infinite string defined by

$$(13) \quad C_0^{(2)} = 0, \quad C_1^{(2)} = 1,$$

$$(14) \quad C_n^{(2)} = C_{n-2}^{(2)}C_{n-1}^{(2)}, \quad n \geq 2$$

and

$$(15) \quad C^{(2)} = C_1^{(2)}C_2^{(2)}\dots C_n^{(2)}\dots,$$

where the operation of the right hand sides of (14) and (15) is the concatenation of words.

It is well known (see [12]), that

$$(16) \quad D^{(2)} = C^{(2)}$$

and the word sequence defined by (13) and (14) has been studied extensively (e.g. in [10], [11], [5] and [4]).

In this paper we extend the above result like (16) for arbitrary $k \geq 2$.

If n is a positive integer, then we denote the Zeckendorf representation of n in the basis $F_n^{(k)}$ (defined in (3) and (4)) by

$$(17) \quad n = A_{n,p}^{(k)} \dots A_{n,1}^{(k)} = \sum_{s=1}^r A_{n,s}^{(k)} F_s^{(k)},$$

and

$$(18) \quad A_{n,s}^{(k)} = 0$$

if $s > r$ or $n = 0$. Comparing (5) to (17) we can note that $r = j_t$ and $A_{n,s}^{(k)} = a_s$ for $1 \leq s \leq r$.

We show a connection between $D_k(n)$ (defined by (10)) and $A_{n,1}^{(k)}$.

Theorem 1. *For all integers $k \geq 2$, $n \geq 0$ we have*

$$(19) \quad A_{n,1}^{(k)} = 1 - D_k(n).$$

Proof. Since $G_k(0) = 0$, $G_k(1) = G_k(2) = 1$ and so $D_k(0) = 1$, $D_k(1) = 0$, furthermore $A_{0,1} = 0$ and $A_{1,1} = 1$, (19) holds for $n = 0$ and 1. Assuming that $n \geq 2$ it follows from (11) that (19) is equivalent to

$$(20) \quad T_k(n) - T_k(n-1) = 1 - A_{n,1}^{(k)}, \quad n \geq 2.$$

If $A_{n,1}^{(k)} = 1$, i.e. $n = A_{n,r}^{(k)} \dots A_{n,2}^{(k)} 1$, then $n-1 = A_{n,r}^{(k)} \dots A_{n,2}^{(k)} 0$ and so $T_k(n) = A_{n,r}^{(k)} \dots A_{n,2}^{(k)} = T_k(n-1)$, i.e. (20) is satisfied.

If $A_{n,1}^{(k)} = 0$ then denoting by $A_{n,q}^{(k)}$ the last "1" in $A_{n,r}^{(k)} \dots A_{n,1}^{(k)}$ (i.e. $q = \min\{s \mid A_{n,s}^{(k)} = 1, 1 \leq s \leq r\}$), $n = A_{n,r}^{(k)} \dots A_{n,q+1}^{(k)} 10 \dots 0$ (here $q \leq r$), and $n-1 = A_{n,r}^{(k)} \dots A_{n,q+1}^{(k)} 01b_{q-2} \dots b_1$, where $b_i = 1$ if and only if $q-i$ is divisible by k , furthermore if $q = r$ then $n = 10 \dots 0$ and $n-1 = 1b_{q-2} \dots b_1$.

In this case

$$T_k(n) = A_{n,r}^{(k)} \dots A_{n,q+1}^{(k)} 10 \dots 0 \neq A_{n,r}^{(k)} \dots A_{n,q+1}^{(k)} 01b_{q-2} \dots b_2 = T_k(n-1),$$

from which we have $T(n) - T(n-1) = 1$, which was to be proved.

To formulate our second theorem we have to define some binary word sequences.

Let $s \geq 1$ and $k \geq 2$ be arbitrary fixed integers. Let the initial words be defined by

$$(21) \quad Q_{m,s}^{(k)} = b_0 b_1 \dots B_{F_m^{(k)} - 1} \quad \text{for all } s \leq m \leq s+k-1,$$

where $b_n = 1$ if and only if $F_s^{(k)} \leq n < F_{s+1}^{(k)}$ and $b_n = 0$ (in the other case), furthermore let

$$(22) \quad Q_{m,s}^{(k)} = Q_{m-1}^{(k)} Q_{m-k,s}^{(k)}, \quad \text{for all } m \geq s+k,$$

where the operation of the right-hand side is the concatenation of words.

Theorem 2. *If $0 \leq n < F_m^{(k)}$ and $m \geq s \geq 1$ then the $n + 1$ -th character of $Q_{m,s}^{(k)}$ is $A_{n,s}^{(k)}$ (defined by (17) and (18)), i.e.*

$$(23) \quad Q_{m,s}^{(k)} = A_{0,s}^{(k)} A_{1,s}^{(k)} \dots A_{F_m^{(k)}-1,s}^{(k)}, \quad \text{for all } m \geq s.$$

Proof. From the definition of $Q_{m,s}^{(k)}$ and $F_n^{(k)}$ it immediately follows that $Q_{m,s}^{(k)}$ consist of $F_m^{(k)}$ characters.

By (17) $n = A_{n,r}^{(k)} \dots A_{n,1}^{(k)}$ is the Zeckendorf representation of n in the basis $F_n^{(k)}$.

If $0 \leq n < F_s^{(k)}$ then $A_{n,s}^{(k)} = 0$ (by (18)); if $F_s^{(k)} \leq n < F_{s+1}^{(k)}$ then $A_{n,s}^{(k)} = A_{n,r}^{(k)} = 1$; if $F_{s+1}^{(k)} \leq n < F_{s+k-1}^{(k)}$ then $A_{n,s}^{(k)} = 0$ (using (7) and the inequality $r - s < k$). Regarding these facts and (21) we have verified (23) for all m where $s \leq m \leq s + k - 1$.

Suppose that $m \geq s + k$

$$Q_{m-1,s}^{(k)} = A_{0,s}^{(k)} \dots A_{F_{m-1}^{(k)}-1,s}^{(k)}$$

and

$$Q_{m-k,s}^{(k)} = A_{0,s}^{(k)} \dots A_{F_{m-k}^{(k)}-1,s}^{(k)}.$$

Then from (22) we obtain

$$(24) \quad Q_{m,s}^{(k)} = A_{0,s}^{(k)} \dots A_{F_{m-k}^{(k)}-1,s}^{(k)} A_{0,s}^{(k)} \dots A_{F_{m-k}^{(k)}-1,s}^{(k)}.$$

If $F_{m-1}^{(k)} \leq n < F_{m-1}^{(k)} + F_{m-k}^{(k)} = F_m^{(k)}$, then

$$(25) \quad n = A_{n,m-1}^{(k)} \dots A_{n,m-k}^{(k)} \dots A_{n,s}^{(k)} \dots A_{n,1}^{(k)},$$

where $1 \leq s \leq m - k$, $A_{n,m-1}^{(k)} = 1$ and $A_{n,i}^{(k)} = 0$ for all i ($m - k < i \leq m - 1$).

If $q = \max\{i \mid 1 \leq i < m - 1, A_{n,i}^{(k)} = 1, F_{m-1}^{(k)} < n < F_m^{(k)}\}$, then from (25) we get

$$(26) \quad n - F_{m-1}^{(k)} = A_{n,q}^{(k)} \dots A_{n,1}^{(k)} = A_{n-F_{m-1}^{(k)}-1}^{(k)} \dots A_{n-F_{m-1}^{(k)}-1,q}^{(k)}.$$

From (25) and (26) we have

$$(27) \quad A_{n,s}^{(k)} = A_{n-F_{m-1,s}^{(k)}}^{(k)} \quad \text{for } 1 \leq s \leq q.$$

It is clear that $A_{F_{m-1,s}^{(k)}}^{(k)} = 0 = A_{0,s}^{(k)}$ ($1 \leq s \leq m-k$), and by (18) and the definition of q

$$(28) \quad A_{n,s}^{(k)} = 0 = A_{n-F_{m-1}^{(k)}-s}^{(k)}$$

follows for $q \leq s \leq m-k$. Using (27) and (28) we can obtain (23) from (24). This completes the proof of the theorem.

Now we define the complement of the word sequences given by (21) and (22). Let $\overline{Q}_{m,s}^{(k)} = d_0 \dots d_{n-F_{m-1}^{(k)}}$ for all $s \leq m \leq s+k-1$, where $d_n = 0$ if and only if $F_s^{(k)} \leq n \leq F_{s+1}^{(k)}$ and $d_n = 1$ else. Furthermore let $\overline{Q}_{m,s}^{(k)} = \overline{Q}_{m-1,s}^{(k)} \overline{Q}_{m-k,s}^{(k)}$, for all $m \geq s+k$. Denote by $\overline{Q}^{(k)}$ an infinite string whose n -th character is the n -th character of $\overline{Q}_{m,1}^{(k)}$, where $n < F_m^{(k)}$.

We can simply formulate our last theorem.

Theorem 3. *For all $k \geq 2$ integers*

$$(26) \quad D^{(k)} = \overline{Q}^{(k)},$$

where $D^{(k)}$ denotes an infinite string, too, defined by (12).

Proof. It immediately follows from Theorems 1 and 2.

Finally we note that using (26) and (16) we can obtain the equalities

$$D^{(2)} = C^{(2)} = \overline{Q}^{(2)}.$$

References

- [1] Dilcher K., On a class of iterativ recurrence relations (to appear)

- [2] Downey P.J. and Griswold R.E., On a family of nested recurrences, *The Fibonacci Quart.*, **22** (4) (1984), 310-317.
- [3] Granville V. and Rasson J.P., A strange recursive relation, *J. Number Theory*, **30** (1988), 238-241.
- [4] Hendel R.J. and Monteferrante S.A. , Hofstadter's extraction conjecture, *The Fibonacci Quart.*, (1994), 98-107.
- [5] Higgins P.M., The naming of popes and a Fibonacci sequence in two noncommuting indeterminants, *The Fibonacci Quart.*, **25** (1987), 57-61.
- [6] Hoggatt V.E.Jr. and Bicknell-Johnson M., Lexicographic ordering and Fibonacci representations, *The Fibonacci Quart.*, **20** (3) (1982), 193-218.
- [7] Kiss P. and Zay B., On a generalization of a recurrence sequence, *The Fibonacci Quart.*, **30** (1992), 103-109.
- [8] Kiss P., Average order of the terms of a recursive sequence, Österr.-Ung.-Slow. Koll. über Zahlentheorie, Graz, 1992, *Grazer Math. Ber.*, **318** (1992), 45-52.
- [9] Meek D.S. and Van Rees G.H.J., The solution of an iterated recurrence, *The Fibonacci Quart.*, **22** (2) (1984), 101-104.
- [10] Turner J.C., Fibonacci word patterns and binary sequences, *The Fibonacci Quart.*, **26** (3) (1988), 233-246.
- [11] Turner J.C., The alpha and the omega of the Wythoff pairs, *The Fibonacci Quart.*, **27** (1) (1989), 76-86.
- [12] Venkoff B.A., *Elementary number theory*, H.Alderson (tran. and ed.), Wolters-Noordhof, Groningen, 1970, 65-68.
- [13] Zay B., Egy rekurzív sorozatról, *Acta Acad. Paed. Agriensis Sect. Math.*, (1993), 41-51.

B. Zay

Eszterházy Károly Teacher's Training College

Leányka u. 4.

H-3300 Eger, Hungary